- All materials, supplies, parts, etc. required to be procured by the contractor for the faithful performance of this
 contract may be a charge to the City of Worcester at a rate not to exceed 15% over the contractor's net cost.
- All City departments may use this contract at the unit prices noted below.
- No job will have more than one person working at a time unless explicit permission is received by the requesting department. If the contractor provides more than one person without prior authorization, it will be at the contractor's discretion and expense.
- No single job shall exceed \$10,000.00 under the terms of this contract.
- Award to be made in the aggregate, Bidders must bid all items.

Item	Estimated Annual		Descriptions of Service	Unit / Rate per hour	Total
				or each	
1	350	Hours	7:00 AM - 4:00 PM, Monday - Friday	\$100.00	\$35,000.00
2	25	Hours	4:00 PM - 7:00 AM, Monday - Friday	\$150.00	\$ 3,750.00
3	15	Hours	Saturdays, Sundays and Holidays	\$200.00	\$ 3,000.00
4	26	Each	Minor Service (as per specifications) – WPS Generators	\$125.00	\$ 3,250.00
5	26	Each	Major Service (as per specifications) – WPS Generators	\$ 343.30	\$ 8,926.00
6	4	Each	Minor Service (October) (as per specifications – Emergency Communications Generators *	\$157.00, \$147.00, \$157.00, \$208.00	\$ 669.00
7	4	Each	Major Service (April) as per specifications — Emergency Communications Generators *	\$ 313.00, \$293.00, \$313.00, \$417.00	\$ 1,336.00
	Total Cost (Items 1-7 Above)				

^{*}Emergency Communications Generators are as noted below:

Weld Power

18 Skyline Dr. Millstone Radio site

50kw Bluestar with integral 240 gallon diesel belly tank 35kw Katolight with buried 500 gallon propane tank

440 SW Cutoff, Mack truck site

50kw Kohler with integral 240 gallon diesel belly tank

2 Coppage Dr. 911 Dispatch Center

- All materials, supplies, parts, etc. required to be procured by the contractor for the faithful performance of this
 contract may be a charge to the City of Worcester at a rate not to exceed 15% over the contractor's net cost.
- All City departments may use this contract at the unit prices noted below.
- No job will have more than one person working at a time unless explicit permission is received by the requesting department. If the contractor provides more than one person without prior authorization, it will be at the contractor's discretion and expense.
- No single job shall exceed \$10,000.00 under the terms of this contract.
- Award to be made in the aggregate. Bidders must bid all items.

Item	Estimated Annual		Descriptions of Service	Unit / Rate per hour or each	Total
1	350	Hours	7:00 AM – 4:00 PM, Monday – Friday	\$ 98.00	\$ 34,300.00
2	25	Hours	4:00 PM - 7:00 AM, Monday - Friday	\$ 162.00	\$ 4,050.00
3	15	Hours	Saturdays, Sundays and Holidays	\$ 215.00	\$ 3,225.00
4	26	Each	Minor Service (as per specifications) – WPS Generators (avg. per unit)	\$ 224.00	\$ 5,824.00
5	26	Each	Major Service (as per specifications) – WPS Generators (avg. per unit)	\$ 509.00	\$ 13,234.00
6	4	Each	Minor Service (October) (as per specifications – Emergency Communications Generators *	\$ 225.00 **	\$ 900.00
7	4	Each	Major Service (April) as per specifications – Emergency Communications Generators *	\$ 400.00 **	\$ 1,600.00
			Total Cost (Items 1-7 Ab	00ve)	\$63,133.00

^{** (}Avg. per unit)

Kraf Power

18 Skyline Dr. Millstone Radio site

50kw Bluestar with integral 240 gallon diesel belly tank 35kw Katolight with buried 500 gallon propane tank

440 SW Cutoff, Mack truck site

50kw Kohler with integral 240 gallon diesel belly tank

2 Coppage Dr. 911 Dispatch Center

^{*}Emergency Communications Generators are as noted below:

- All materials, supplies, parts, etc. required to be procured by the contractor for the faithful performance of this contract may be a charge to the City of Worcester at a rate not to exceed 15% over the contractor's net cost.
- All City departments may use this contract at the unit prices noted below.
- No job will have more than one person working at a time unless explicit permission is received by the requesting department. If the contractor provides more than one person without prior authorization, it will be at the contractor's discretion and expense.
- No single job shall exceed \$10,000.00 under the terms of this contract.
- Award to be made in the aggregate. Bidders must bid all items.

Item	Estimated		Descriptions of Service	Unit / Rate per hour	Total	
	Annual			or each		
1	350	Hours	7:00 AM – 4:00 PM, Monday – Friday	\$ 108	\$ 37,800	
2	25	Hours	4:00 PM – 7:00 AM, Monday – Friday	\$ 140	\$ 3,500	
3	15	Hours	Saturdays, Sundays and Holidays	\$ 165	\$ 2,475	
4	26	Each	Minor Service (as per specifications) – WPS Generators	\$ 130	\$ 3,380	
5	26	Each	Major Service (as per specifications) – WPS Generators	\$ 565	\$ 14,690	
6	4	Each	Minor Service (October) (as per specifications – Emergency Communications Generators *	\$ 130	\$ 520	
7	4	Each	Major Service (April) as per specifications – Emergency Communications Generators *	\$ 473.75	\$ 1,895	
Total Cost (Items 1-7 Above)					\$ 64,620	

^{*}Emergency Communications Generators are as noted below:

Power Up Generator Service

18 Skyline Dr, Millstone Radio site

50kw Bluestar with integral 240 gallon diesel belly tank 35kw Katolight with buried 500 gallon propane tank

440 SW Cutoff, Mack truck site

50kw Kohler with integral 240 gallon diesel belly tank

2 Coppage Dr, 911 Dispatch Center

- All materials, supplies, parts, etc. required to be procured by the contractor for the faithful performance of this contract may be a charge to the City of Worcester at a rate not to exceed 15% over the contractor's net cost.
- All City departments may use this contract at the unit prices noted below.
- No job will have more than one person working at a time unless explicit permission is received by the requesting department. If the contractor provides more than one person without prior authorization, it will be at the contractor's discretion and expense.
- No single job shall exceed \$10,000.00 under the terms of this contract.
- Award to be made in the aggregate. Bidders must bid all items.

Item	Estimated		Descriptions of Service	Unit / Rate per hour	Total	
	Annual			or each		
1	350	Hours	7:00 AM – 4:00 PM, Monday – Friday	\$ 115	\$ 40,250,00	
2	25	Hours	4:00 PM - 7:00 AM, Monday - Friday	\$ 172.50	\$ 4317.50	
3	15	Hours	Saturdays, Sundays and Holidays	\$ 700	\$ 3,000,00	
4	26	Each	Minor Service (as per specifications) – WPS Generators	\$ 194.42	\$ 5055,00	
5	26	Each	Major Service (as per specifications) – WPS Generators	\$ 458.85	\$ 11,930	
6	4	Each	Minor Service <i>(October)</i> (as per specifications – Emergency Communications Generators *	\$ 192.50	\$ 770-00	
7	4	Each	Major Service (April) as per specifications – Emergency Communications Generators *	\$ 373.75	\$1495.00	
Total Cost (Items 1-7 Above)						

^{*}Emergency Communications Generators are as noted below:

FM Generator

18 Skyline Dr, Millstone Radio site

50kw Bluestar with integral 240 gallon diesel belly tank 35kw Katolight with buried 500 gallon propane tank

440 SW Cutoff, Mack truck site

50kw Kohler with integral 240 gallon diesel belly tank

2 Coppage Dr, 911 Dispatch Center